Efficiency vs dr

0.5
0.45

0.35]

efficiency vs AR
=}
D

©
w

Lol P AN AN NNN AR RN RERRN LARLE RRLLE LR

0.25
0.2
0.15
0.4
0.0 1
0

&

SSW_CKi__RECO
SSW_mkFitOriginal__ RECO
SSW_mkFitLowPtQuad__RECO
SSW_mKkFitLowPtTriplet_ RECO

Ratio

—=— DOM_VOOUL_ 00UO0UL__Global
1.5H -§ —— DQM_V0001_R000000001_Global_
: —— DQM_V0001_R000000001 _Global

CM
n —Global—CM
—— BAMV0001-R000000001—Global—CM

1
TP min AR

i

[ Efficiency vs dr (track,jet) |
§0.05
n0.045
=
o
<]0.04
9.035
>
20.03
Q
:-'=0.025
3]
0.02
0.015
0.0
0.005

Ratio

107 1072 107t
AR(TP, jet)

Ratio




	Contents
	Page 1


